‘2B

XINGCHEN

HARFESIKIR T

B SME=iERES . KIY

Al

==
|se]

Al

B URShaZEESL . KJU

A

HHEEREE

Lrad s

IS AR

1 LU

ERBY  ERAA ﬁmeg gg

}g = W AA1 H S L1 ALE
KJY04-M3 M3x0.5| 3.1 | 3
» KJY04-M5 msxos| 4 [as]| | oo
KJY04-M6 M6x1.0| 48 | 3.3
KJY04-01S 18" | 75| 4
KJY06-M5 M5x0.8 | 4.2 | 3.3
6 KJY06-M6 M6x1.0| 4.8 | 33| 12 [17.7] 15 [11.8| 7.3
KJY06-01S us" | 75| 4
* (WA ARG, K. B, B, URAkTEGAR. K. B.

P ERBE  EIAAT  EAKE  ga
¢D il @M AAl H s L1 L e
KJT03-M3 M3x05) 31| 48 | 7 | 10

0 KJT03-M5 M5x08| 4 | 48 | 7 | 10
KJT03-M6 M6x1.0|4.8| 48 | 8 | 10
KJT03-01S ver [75] 33 10 [78] | .
KJT23-M3 M3x05| 31| 48 | 7 | 10
s KJT23-M5 M5x08| 4 | 48 | 7 | 10
KJT23-M6 M6x1.0| 48| 48 | 8 | 10
KJT23-01S 8" | 75| 33| 10 | 7.8
KJT04-M3 M3x0.5| 31| 48 | 7 | 10.5
i KJT04-M5 M5x0.8| 4 | 4.8 106 .| o8
KJT04-M6 M6x1.0 48| 48 | 8 | 105
KJT04-01S 18" |7.5| 33| 10 | 85
KJT06-M5 M5x08 42| 48 | 7 | 11.8
6 KJT06-M6 M6x1.0| 4.8 | 4.8 1.8 | 17.5| 1.8
KJT06-01S ws" [75] 33| 10| 10

* BERAESEE: K. WL,

B, BAGTEHE. K. R

QG ERHAS &#e*! g% £

}g = ME AA1 H S L1
KJU04-M3 M3x0.5| 3.1 3 7 |29.3
KJU04-M5 M5x0.8| 4 33| 7 |29.3
b4 96 |17.7| 5.8
KJU04-M6 M6x1.0| 4.8 [ 3.3 8 |29.3
KJU04-018 18" 7.5 4 10 | 30
KJU06-M5 M5x0.8| 4.2 | 33| 7 |331
h6 KJU06-M6 M6x1.0| 48 | 33| 8 |33.1(11.8] / !
KJU06-018 1/8" 7.5 LS 10 [33.8
«BERTEAE: K. BT, M. DRGTAME. K. .
el as kK #wINE  REAE
$D L L B
¢4 KJT04-00 15.8 9.6 6.3
©6 KJT06-00 17.1 11.8 7.3

* RERAESAGE: K. BL. B, ERKAEHAE: K. B

- s TRERENE LR E
'tg e i E*L‘lﬁﬂ % ﬁﬁsﬂ-ﬁ
6 KJT04-06 b4 171 l 9.6 ‘ 7.3

* [EAAEMRE: K. B, B, DRAATEME: K. R



